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import numpy as np
import pywt
import matplotlib.pyplot as plt

primitive = np.loadtxt('200812151717A.txt")
noise = np.loadtxt('200812151718A.txt")
h 0.015

r = primitivel[:, 0] * h

data = np.abs(primitive[:, 1] - noise[:, 1])

wavelet = 'db4'

level = 5

coeffs = pywt.wavedec(data, wavelet, level=level)

thr = 0.5

coeffs_thresh = [pywt.threshold(c, thr, mode='hard') for c in coeffs]
p

pywt.waverec(coeffs_thresh, wavelet)

k=20.8

b = 50

m = 300

S = np.log(r ** 2 * P)
I=0

for t in range(b, m + 1):
if t == b or t == m:
I += h * np.exp((S[t] - S[m]) / k) / 2
else:
I += h * np.exp((8[t] - S[m]) / k)
sigma_m = (k * np.exp((S[b] - Sml) / k) - 1) / (2 * I)



sigma = [0]
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r0 in range(2, 1025):
J=20
for t in range(rO, m + 1):
if t == b or t == m:
J +=h * np.exp((S[t] - S[ml) / k) / 2
else:
J +=h * np.exp((S[t] - S[m]) / k)
sig = np.exp((S[r0] - S[m]) / k) / (1 / sigma_m + 2 * J / k)
sigma.append(sig)

figure()

.plot(r, sigma)
.x1im([0.5, 5.0])
.xlabel('Distance / km')

.ylabel('Extinction Coefficient')

show ()
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Extinction Coefficient vs Distance
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